34 (a-b)(a® + ab + b?) = A7NoFH?

O a®-0p? @a3—b3
® a®+ b3 @ a3+ 3a®b + 3ab* + b°

® a3 -3a®b + 3ab? - b3

A (a-b)(a® +ab+b%) =a®-b?




2. (a-b+c)a-b-c)E HAMNSHH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc
©a2+b2—c2—2ab

~&B

(a=b+c)la-b-c)
={(a-b)+ cH{(a=b)—c}
=(a-b)*-c?
:a2+b2—c2—2ab




3. THA] (2 + 20— 3)(3x + x4+ K) O AANAOIA AAeke] A% 15
o ), A4 ko] ZHe?

®-3 @0 ® 3 @6 @)




VAl

o
/\f?

i

LR

a7

<

A% v

filo

4. =

IH

D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1
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O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt
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(a+b-c)la—b+c)E ANstH?

@ a?+b%-c2%-2bc
® a?+b% -+ 2ab

® a®-b%-c?-2ab

@ a® - b+ % - 2bc
(@)a2—b2—02+2bc

(a+b-c)la=b+c)

:az—bz—c2—|—2bc
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8. (P +ax+2)(x+bx+2)EANMAS W, 2 B3 AFE RF0
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
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® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




10. x+y+z=1xy+yz+zx =2, xyz=3< ™, (x+ Dy +1)(z+1)
o] k& Fotofet
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(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
=7
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@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)® =a®-3a’b + 3ab® - b®

@(a +a+1)(a®-a+1)=a*-a*+1

® @+a+)(a*-a+1) =(a®+1)-
=a*+a’+1
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® 8 @ 15 3®)24 @ 36

(x=1)(x+2)(x—-3)(x+4)

=2 +x-2)(x®+x-12)(x® +x = X(A
= (X-2)(X-12)

=X2-14X+24

=(x?+x)? - 14(x* +x)+24
=x*+2x3 - 13x% - 14x + 24
Ca=142-13-14+24=0, b=24
La+b=0+24=24




13. (a+b)(a® —ab+b?)(a® - )2 AAX 07 &S AL9

@ a®+b? @ ab + b ((@aﬁ—b6
@ a° +b° ® a-p

(& )= (a® + b3)(a® - b3) = ab - b°
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(1+2x—3x2 +4x% — 5x* + 6x° + 7x5)2 o] ZA7jAlof|A] &3 o] Al4=E=2

® 0 @ 2 @2 @4 ©G)u




15. a=2004, b =2001Y o], a® — 3a2b + 3ab? — b3 2] ZrL?

@® 21 @ 23 ® 25 @)27 ® 29

“(a-b)®=3>=27
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(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18
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1
(x=1)(x=2)---(x—10)
= ! a2 e a10
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a1+a2+...+a1020




18.

2005 x 2004 4+ 1

20053 + 1

> E.

> =eHl 2006

o ke Fatola,




Pl a2 + b2 +c2 =ab+be+ca
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P42+ =ab+bct+calla?+b>+c2—ab—bc—ca=0

1
§(a2—2ab+b2+b2—2bc+02+02—2ca—|—a2):0

=(2a® + 2b? + 2¢% — 2ab — 2bc — 2ca) = 0
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{ta-b>+(b-c)®+(c—a)?}=00°]
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FolB2 g-b=0,b-c=0,c—a
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Al ¥e] Zol7t a, b, ¢9l AABCOl ti5to] a? —ab+b? = (a+b—-c)c
A TAZESHS wl, AABCE= ©o]H 42317 Astoiet.

a’>—ab+b* = (a+b-c)colA a® —ab + b* = ac + bc - ¢
a’>+b?>+c?—ab-bc—-ca=0

2, @b+ (- + (-2} =0

a=b=c

wtehA], AABC+E Bzt ol




